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1. The digit in unit's place of the product

fuEufyf[kr xq.kuiQy dk bdkbZ vad Kkr djsaA
49237 × 3995 × 738 × 83 × 9 is :

(a) 0 (b) 7

(c) 6 (d) 8

2. The unit digit in 3 × 38 × 537 × 1256 is :

3 × 38 × 537 × 1256 dk bdkbZ vad Kkr djsaA
(a) 4 (b) 2

(c) 6 (d) 8

3. The digit in unit's place of the product

81 ×  82 ×  83 × .........× 89 is :

xq.kuiQy 81 ×  82 ×  83 × .........× 89 ds bdkbZ
LFkku dk vad gS %
(a) 0 (b) 2

(c) 6 (d) 8

4. Find the unit digit of the product of all the

odd prime number.

lHkh fo"ke vHkkT; la[;kvksa ds xq.kuiQy dk badkbZ
vad Kkr dhft,A
(a) 0 (b) 1

(c) 2 (d) 5

5. Find the unit digit of the product of all the

prime number.

lHkh vHkkT; la[;kvksa ds xq.kuiQy dk badkbZ vad Kkr
dhft,A
(a) 0 (b) 1

(c) 2 (d) 5

6. The digit in unit place of the number

ifj.kkeh la[;k esa bdkbZ vad Kkr djsaA
(1570)2 + (1571)2 + + (1572)2 + (1573)2 is :

(a) 1 (b) 2

(c) 3 (d) 4

7. The units digit of the expression

ifj.kkeh la[;k esa bdkbZ vad Kkr djsaA
256251 + 36528 + 7354 is :

(a) 6 (b) 5

(c) 4 (d) 0

8. Find the units digit of 4346.

4346 dk bdkbZ vad Kkr djsaA
(a) 7 (b) 9

(c) 0 (d) 6

NUMBER SYSTEM : UNIT DIGIT
(la[;k i¼fr % bdkbZ vad)

9. Find the units digit of 4343 – 2828.

4343 – 2828 dk bdkbZ vad Kkr djsaA
(a) 1 (b) 2

(c) 3 (d) 4

10. Find the last digit of 323232 .

323232 dk vafre vad Kkr dhft,A

(a) 2 (b) 4

(c) 6 (d) 8

11. Let x = (633)23 – (277)38 + (266)54

what is the unit digit of x?

;fn x = (633)23 – (277)38 + (266)54 gS]

rks x dk bdkbZ vad D;k gS?
SSC CGL Tier II, 11 September 2019

(a) 7 (b) 6

(c) 4 (d) 8

12. If x = (164)169 + (333)337 – (727)726

what is the unit digit of x?

;fn x = (164)169 + (333)337 – (727)726 gS]

rks x dk bdkbZ vad D;k gS?
SSC CGL Tier II, 11 September 2019

(a) 5 (b) 7

(c) 8 (d) 9

13. The digit in the unit's place of

fuEu O;atd dk bdkbZ vad Kkr dhft,A
[(251)98 + (21)29 – (106)100 + (705)35 – 164 + 259]

is

(a) 1 (b) 4

(c) 5 (d) 6

14. The unit digit in the product

ifj.kkeh la[;k esa bdkbZ vad Kkr djsaA
771 × 663 × 365 is :

(a) 1 (b) 2

(c) 3 (d) 4

15. Find the unit digit in the product

ifj.kkeh la[;k esa bdkbZ vad Kkr djsaA
(4387)245 × (621)72.

(a) 1 (b) 2

(c) 5 (d) 7

https://t.me/mathsbyadityaranjan


M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

[ 2 ]

16. Find the unit digit in the product

ifj.kkeh la[;k esa bdkbZ vad Kkr djsaA

 (2464)1793 × (615)317 × (131)491 is :

(a) 0 (b) 2 (c) 3 (d) 5

17. The last digit (1001)2008 + 1002 is :

(1001)2008 + 1002 dk vafre vad gS %
(a) 0 (b) 3 (c) 4 (d) 6

18. Find the last digit of the expression

fuEu O;atd dk vafre vad Kkr dhft,A
12 + 22 + 32 + ........... + 1002.

(a) 0 (b) 1 (c) 3 (d) 5

19. Find the last digit of the expression

fuEufyf[kr O;atd dk vafre vad Kkr dhft,A
12 + 22 + ........... + 322 + 332.

(a) 0 (b) 5 (c) 7 (d) 9

20. Find the unit digit of/bdkbZ vad Kkr djsaA
11 + 22 + 33 + 44 + 55 + 66 + 77 + 88 + 99 +

1010.

(a) 0 (b) 5 (c) 7 (d) 9

21. Find the unit digit of (123456789)123456789.

(123456789)123456789 dk bZdkbZ vad Kkr djsaA
(a) 2 (b) 6 (c) 1 (d) 9

22. Find the unit digit of (123456789)123456789!.

(123456789)123456789! dk bZdkbZ vad Kkr djsaA
(a) 2 (b) 6 (c) 1 (d) 9

23. Find the unit digit of 973234! × 234973!.

973234! × 234973! dk bZdkbZ vad Kkr djsaA
(a) 2 (b) 6 (c) 7 (d) 9

24. Find the unit digit of the expression :

fuEufyf[kr O;atd dk bdkbZ vad Kkr djsaA
2222 4444 8888 99992222 + (4444) + (8888) + (9999)

(a) 0 (b) 2 (c) 5 (d) 9

25. Find the unit digit of the expression :

fuEufyf[kr O;atd dk bdkbZ vad Kkr djsaA
1! + 2! + 3! + 4! +.................+100!.

(a) 1 (b) 0 (c) 3 (d) 5

26. The last digit of the following expression is :

fuEufyf[kr O;atd dk vafre vad Kkr djsaA

         1 42 3 10
1 + 2 + 3 + 4 +........... 10

(a) 0 (b) 5

(c) 7 (d) 9

27. Find the unit digit of the expression :

fuEufyf[kr O;atd dk bdkbZ vad Kkr djsaA
1.(1!)1! + 2.(2!)2! + 3.(3!)3!.........+ 101.(101!)101!

(a) 5 (b) 3

(c) 0 (d) 1

28. The right most non-zero digits of the

number 302720 is :

la[;k 302720 esa lcls nk,a v'kwU; la[;k gS %
(a) 1 (b) 3

(c) 7 (d) 9

29. Which of the following can't be the unit's

digit of a perfect square?

fuEufyf[kr esa ls dkSu&lk iw.kZ oxZ dk bdkbZ vad ugha
gks ldrk gS\
(a) 4 (b) 8

(c) 9 (d) 6

30. The unit digit of (13713)47 is :

(13713)47 dk bZdkbZ vad D;k gS\
(a) 1 (b) 3

(c) 5 (d) 7

31. Find the unit digit of the expression :

fuEufyf[kr O;atd dk bdkbZ vad Kkr djsaA
4 5 6 7 8 9 103 4 5 6 7 8 92 × 3 × 4 × 5 × 6 × 7 × 8  ?

(a) 2 (b) 1

(c) 0 (d) 3

32. If the unit digit of 433 * 456* 43N is (N +

2), then what is the value of N?

;fn 433 * 456* 43N dk bdkbZ dk vad (N + 2)

gS] rks N dk eku D;k gS\
(a) 1 (b) 3

(c) 8 (d) 6

1.(a) 2.(d) 3.(a) 4.(d) 5.(a) 6.(d) 7.(d) 8.(b) 9.(a) 10.(c)

11.(d) 12.(c) 13.(b) 14.(d) 15.(d) 16.(a) 17.(b) 18.(a) 19.(d) 20.(c)

21.(d) 22.(c) 23.(b) 24.(c) 25.(c) 26.(c) 27.(d) 28.(a) 29.(b) 30.(b)

31.(c) 32.(d)

Answer Key
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